Method :
it below ten
i Step 1 : Write the €N dlg; e pelow
a2 column an the O
T ones’ column- ;
;K; Step 2 : First add the onés tOgertlhef an
e write below ones’ column.
2 ones + 9 ones = 7 ones ;
Step 3 : Then, add the tens together an
write below tens’ column.
1ten + 1ten = 2 tens
i | Ans. 27
Exercise
Add the f°"0wing_ 5
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Ans. 72

the carry Oover.

12 ones
nd carry over

nder ones column &
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: Add the tens together mciding

ones + 5 ones =
= 10 ones + 2 ONes
1 fen + 2 ones
7 tens
Write 7 under tens’ column
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1 ten o the tens

12 ones
11en + 2 tens + 3 tens +

Write 2 u

3 ones + 4

: Add the ones togefher

Add 13, 24 and 35
Step 1
Step 2
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Add the following by regrouping.

Exercise
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